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Avk . PARx2 PRINCE G®@@6G®®® pogia 23 A
QUEEN Q@B3®@®®® 327 0 A HDCP_LIRE :
ShNE 238 A B 36 36327 :36
NEAL SNEL KING | PRINCE | QUEEN GROSS| HDCP| NET g &4 SNEL KING)/ PRINCE| QUEEN GROSS| HDCP| NET {E= AL Sn&E4 KING | PRINCE | QUEEN GRoss | HDCP| NET {F=
&5 EH &FXK 39 41 80| 10.8]69.2 51 |}RFE RHE 49| 49 98] 24.0 | 74.0 101 |7KEF IEZ 48| 48 96| 204 |75.6
2 |IER 1B 39| 41 80| 10.8 |69.2 52 KK FHKa 41] 39 80| 6.0|74.0 102 | KXAIR EIf 56| 51 107| 31.2 | 75.8
3 &BF &l 48 46 94| 24.0|70.0 53 {RE Sl 47| 44 91| 16.8[74.2 103 [FR X 45| 50 95| 19.2]75.8
4 [l B 38| 43 81| 10.8(70.2 54 | HE &RE 45| 46 91| 16.8(74.2 104 &0 & 43 46 89| 13.2/75.8
5 8BAX 85t 36 42 78| 7.2/70.8 55 &€ BBa 45| 46 91| 16.8 |74.2 105| 3% 1% 52 49 101| 25.2|75.8
6 His a2 48| 47 95| 24.0(71.0 56 | LU R 41| 38 79| 4.8(74.2 106 |30l $E— 44| 44 88| 12.0/76.0
7 #HEBES 51| 48 99| 276 |71.4 57 5TBR 40| 45 85| 10.8 |74.2 107 BRI SRk 48 52 100/ 24.0 |76.0
8 |IAA &Y 40 40 80| 8.4|71.6 58 BH K& 45| 46 91| 16.8 |74.2 108 |14 22 47 41 88| 12.0(76.0
9 Ak FE 46| 52 98| 26.4|71.6 59 R FE 45| 46 91| 16.8 [74.2 109 |{ERQ K Fia 46| 48 94| 18.0|76.0
10 3B{H &h 38, 40 78| 6.0 72.0 60 | =il >fE 44 47 91| 16.8 |74.2 110 |FHEF A<0]1E 49 51 100| 24.0 |76.0
11 |ZlE BE 44 40 84| 12.0/72.0 61 |th)l| Pk 38| 41 79| 4.874.2 111 | FH= HE 43 51 94| 18.0|76.0
12 | HiEE BPE 47 43 90| 18.0 [72.0 62 |PfIEE B 41| 44 85| 10.8 (74.2 112 | H E 1 —E8 44| 50 94| 18.0 |76.0
13 itk & 41 42 83| 10.8]72.2 63 | #1[ TEXEB 48 55 103| 28.8 [74.2 113 | L5 =5 42| 46 88| 12.0/76.0
14 | F7t Flk 46| 43 89| 16.8 [72.2 64 | KTF hff— 44 46 90| 15.6 |74.4 114 1A Z— 47 47 94| 18.0|76.0
15 |iB7K X¥Eia 42| 41 83| 10.8]72.2 65 FH %R— 56 52 108 33.6 |74.4 115 |EE B 44| 44 88| 12.0/76.0
16 | REA BT 50 45 95| 22.8(72.2 66 1HIE IEZ 46 44 90| 15.6 |74.4 116 |HR Ih 45| 48 93| 16.8]76.2
17 | = 42| 40 82| 9.6(72.4 67 7Ki3 % 49| 46 95| 204 |74.6 117 | K £= 44| 43 87| 10.8 |76.2
18 |5 & 40| 42 82| 96(72.4 68 |/\fg B 45 49 94| 19.274.8 118 |{@4E PEHY 51 48 99| 22.8(76.2
19 B[R BE 40 41 81| 84/72.6 69 1RFE B¥iZ 48 46 94| 19.2|74.8 119 |53ith IE 46| 41 87 10.8[76.2
20 L4 —= 35/ 40 75| 24|72.6 70 KiE BRX 48 46 94| 19.2|74.8 120 |/JViE 3¥— 43| 50 93| 16.8]76.2
21 | EA =E 46 41 87| 14.4[72.6 71 B/ BB 49| 51 100| 25.2 |74.8 121 | AR @R 43| 43 86| 9.6|76.4
22 A Bt 43 43 86| 13.2|72.8 72 I Bia 49 45 94| 19.2]74.8 122 357K Bk 49| 43 92| 15.6 |76.4
23 [ &F BF 45| 47 92| 19.2 |72.8 73 |5h B8F 45| 49 94| 19.2 |74.8 123 ;B[ 65 55 49 104| 27.6 | 76.4
24 JH2Z2B8 XIE 42| 44 86| 13.2(72.8 74 |[BA — 47| 47 94| 19.274.8 124 | KE5y IERS 44| 47 91| 14.4|76.6
25 |$h¥F FBIE 41| 39 80| 7.2/72.8 75 #EES ieth 47| 47 94| 19.2|74.8 125| FBF EA 44| 47 91| 14.4|76.6
26 (AR #05) 42 49 91| 18.0/73.0 76 [HAH IXE] 44 43 87| 12.0|75.0 126 /NI BB— 56 47 103| 26.4 [76.6
27 \[AH 3T 43 42 85| 12.073.0 77 | K7F B 40 41 81| 6.0/75.0 127 | €% —B 55| 54 109| 32.4[76.6
28 | pRE EBhL 47| 44 91| 18.0 |73.0 78 |FE= 44| 49 93| 18.0 |75.0 128 |5EH = 53| 44 97| 20.4 |76.6
29 kKR B 40| 38 78| 4.8(73.2 79 | KA\ &9 43| 44 87| 12.0 |75.0 129 | E& =R 52| 51 103| 26.4 |76.6
30 itH BA 50 52 102| 28.873.2 80 |7TH &% 44| 43 87| 12.0|75.0 130 | ¥4& BEJRED 44| 40 84| 7.2/76.8
31 | —= IEF 50/ 45 95| 216 |73.4 81 | EH OEX 50 43 93| 18.0 |75.0 131 | FE #HAl 46| 44 90| 13.2/76.8
32 Ol & 44 45 89| 15.6 |73.4 82 BAEF izt 47| 46 93| 18.0|75.0 132 | ALl #&A 47| 49 96| 19.2 |76.8
33 AH i 42 41 83| 9.6(73.4 83 Al B— 52 47 99| 24.0[75.0 133 | KHE =75 43 46 89| 12.0 [77.0
34 HLE —i# 47| 42 89| 15.6 |73.4 84 Hhfx] 24 44| 43 87| 12.0/75.0 134 JRiE — =/ 44| 45 89| 12.0 [77.0
35 | R M- 49| 46 o5 216 |73.4 85 | FEH BEAiNH 45 48 93| 18.0|75.0 135 | §th BT 56| 57 113] 36.0[77.0
36 |ikA BE= 46 42 88| 14.473.6 86 BHi5 ¥x 45 47 92| 16.8[75.2 136 |PuJEp BRZE 52 49 101| 24.0[77.0
37 &K iFE 43 45 88| 14.4 |73.6 87 |”&E RA 44| 42 86| 10.8 |75.2 137 | =¥ T 55 52 107/ 30.0 |77.0
38 KK B¢ 47| 47 94| 20.4|73.6 88 XEf & 42| 44 86| 10.8[75.2 138 |Hlith #1585 43 45 88| 10.8(77.2
39 =i &H= 43| 44 87| 13.2]73.8 89 | KF BE 54| 50 104| 28.8 |75.2 139 |§i§ BBIR 50 44 94| 16.8]77.2
40 HafE K 37 38 75 1.2/73.8 90 |HIff] H=E 46| 40 86| 10.8[75.2 140 | —= &g 47| 46 93| 156 |77.4
41 £F E5— 38 37 75| 1.2]73.8|~”2/0& o1 | KH %— 49| 48 97| 21.6 |75.4 141 |FFIL 3tk 46| 47 93| 15.6 | 77.4
42 |HhfE §RIREB 40| 47 87| 13.2]73.8 92 {kia ZF_"EBP 48 49 97| 21.6 |75.4 142 | KAR flF 58/ 53 111 336 |77.4
a3 |IF {288 41 40 81| 7.2/73.8 93 K FF 50 47 97| 21.6 |75.4 143 1LfA Bt 48 51 99| 216 |77.4
a4 | X=E 1 56 49 105| 31.2 |73.8 94 EE} Z=E 53| 50 103| 27.6 |75.4 144 ()11 && 44| 43 87| 96(77.4
45 |IUAX IEFE 37| 44 81| 7.2/73.8 95 B E=H 49| 48 97| 21.6 |75.4 145 jtK BASS 48| 45 93| 156 |77.4
46 |+8 Yot 54| 50 104/| 30.0 |74.0 96 KEF FlI 58| 51 109| 33.6 |75.4 146 fERE =T hft 51| 48 99| 216|77.4
47 X 18 47 39 86| 12.0 |74.0 97 | SH {SHB 46| 45 91| 15.6 |75.4 147 HE 8 45 47 92| 14.4 |77.6
48 A Bk 41 45 86| 12.0|74.0 98 iR —= 52 44 96| 20.4 |75.6 148 |{fEH —F 52| 52 104| 26.4 |77.6
49 |IEK fLF 52 46 98| 24.0|74.0 99 |/\BF (B 43 47 90| 14.4 |75.6 149 /H FF 57 47 104| 26.4 |77.6
50 BA RE 45 47 92| 18.0|74.0 100 | K& 1IFZE 48| 42 90| 14.4 |75.6 150 HELL EiE 50 48 98| 20.4(77.6
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NE4ST ShnEL KING)| PRINCE | QUEEN GROss| HDCP| NET w5 [1: v SnE4 KING | PRINCE| QUEEN GRoss| HDCP| NET w5 [[[:ivd shn&a KING | PRINCE | QUEEN GRoss| HDCP| NET It
151 &80 625 42 49 91| 13.2|77.8 201 | FREE BRE 56| 53 109] 28.8 |80.2
152 |thEH B3 49| 48 97| 19.2]77.8 202 1lUA =% 49 54 103| 22.8 [80.2
153 | L Zf 53| 50 103] 25.2|77.8 203 |§53th ZEA 58| 57 115| 34.8 |80.2
154 Pl & 43 42 85 72|77.8 204 |[@H 2 51| 51 102 21.6 |80.4
155 {2 B 44 47 91| 13.2(77.8 205 | EH FEE 49| 52 101| 20.4 [80.6
156 5TEH Fin 49 53 102| 24.0 |78.0 206 (R FE 48| 46 94| 13.2|80.8
157 SR {R=1hf 49 47 96| 18.0 |78.0 207 | 1)1l 3tk 49| 50 99| 18.0 |81.0
158 |BAZ {83k 44| 40 84| 6.0/78.0 208 | #AZ & 57 60 117] 36.0 |81.0
159 |7KA B 47| 42 89| 10.8[78.2 209 | L &N 55/ 55 110| 28.8(81.2
160 & FIiZ 58| 49 107| 28.8|78.2 210| 7K &E 59 50 109| 27.6 |81.4
161tk K &g 47 47 94| 15.6 | 78.4 211 | lUA& Bl— 57| 52 109| 276 |81.4
162 £F 18X 51| 55 106| 27.6 |78.4 212 | I5H SERE 57| 58 115| 33.6 |81.4
163 ;EH E— 51 49 100 216 |78.4 213 )IIB 3tk 47| 55 102| 204 |81.6
164 R)| i&E— 52| 54 106| 27.6 |78.4 214 ”F =M 52| 49 101] 19.2/81.8
165 A R 56| 49 105| 26.4|78.6 215 {g)I| E= 60| 58 118] 36.0 |82.0
166 o EF @I 51 54 105| 26.4 |78.6 216 | [=5F 8 51| 49 100| 18.0 |82.0
167 B/ HWF 48 45 93| 14.4[78.6 217 IR HFX 57| 48 105| 22.8 |82.2
168 |k EX 48| 44 92| 13.2(78.8 218|518 558 49| 56 105| 22.8[82.2
169 | thiR ¥— 47| 45 92| 13.2/78.8 219 |LMA & 57| 54 111] 28.8 |82.2
170 thtt —3 47| 45 92| 13.2|78.8 220 k7% +0UE 57 53 110| 27.6 |82.4
171 | 5tk Bis 46| 46 92| 13.2/78.8 221 | AH BX 53| 57 110| 27.6 |82.4
172 | #HEF RIR 51 47 98| 19.2|78.8 222 | =iF HE 52| 57 109| 26.4 |82.6
173 | KIx KIE 55| 55 110| 31.2|78.8 223 | I & 59 60 119] 36.0 |83.0
174 #5K PER 52| 52 104 252 |78.8 224/ §8K SRIRED 59| 56 115 31.2 |83.8
175 |ZH & 45| 52 97| 18.079.0 225 (R &5 47| 54 101| 16.8 |84.2
176 XK BE 52| 45 97/ 18.079.0 226 |3 IREP 50/ 51 101] 16.8 |84.2
177 | kiR BESE 52| 51 103| 24.0 |79.0 227 | A4 BH1H 61| 54 115/ 30.0 |85.0
178 | =il {P{khft 59| 55 114/ 34.879.2 228 | |UE = 60| 54 114| 28.8 |85.2
179 ¥rH AEF 47 54 101| 21.6 | 79.4 229 |85 180 55/ 65 120| 34.8 |85.2
180 FHE HFIR 50, 57 107| 27.6 |79.4 230 | K5 — 48| 59 107| 21.6 |85.4
181 A 3ZF 55| 52 107| 27.6 |79.4 231 EH 3h 52| 60 112] 26.4 |85.6
182 th B 46 49 95| 15.6 |79.4 232 |fifY pEoE 61| 56 117| 312 |85.8
183 H R Fl5A 56| 57 113] 33.6|79.4 233 |[@H B5F 63| 59 122] 36.0 |86.0
184 |18 W& 48| 53 101| 21.6 |79.4 234 (5 WE 64 59 123] 36.0 |87.0
185 il BE 47| 53 100/ 20.4 |79.6 235 At Fith 58| 64 122] 34.8 |87.2
186 ALl {§— 51| 49 100/ 20.4 |79.6 236 | 88K = 73] 52 125| 36.0 |89.0
187 {EH HHE 48| 45 93| 13.2/79.8 237 |IUF £5& 65 60 125| 36.0 [89.0|7-t—&
188 i &5 52| 47 99| 19.2 [79.8 238 (RBE b &F 68| 62 130| 34.8(95.2
189 | — = = 54| 51 105| 25.2 |79.8
190 | [E)Il IE& 48 51 99| 19.2 [79.8
191 $S{REF {2 51| 48 99| 19.2/79.8
192 | HiR @& 53| 52 105| 25.2 [79.8
193 $@ith /F 48| 50 98| 18.0 |80.0
194| = M+ 57/ 53 110/ 30.0 |80.0
195 BH E— 45/ 53 o8| 18.0 |80.0
196 E BF 49 55 104| 24.0 |80.0
197 P = 54 50 104| 24.0 |80.0
198 ” & & 51/ 59 110/ 30.0 |80.0
199 |iB7K E5F 52| 57 109/ 28.8 [80.2
200 K15 12 45| 52 97| 16.8 |80.2 5 A




